TD 4 — Exercice 3

5]

]

1,=Q Jp=1
K= Ko=Qy

Transition Qu; — Qn |J ‘K
0 —= 0 0iX
0 =1 11X
1 =1 Xio0
1 — 0 Xil

Q




Q Q, Transition Qu; — Qn |J ‘K
1 h 0 =0 01X
K, Qo 1k, Q, 0—1 11X
1 =1 Xio
H 1 = 0 Xil
1,=Q, Jo=1
K, = Ko= Q,

Q




Q Q, Transition Qu; — Qn |J ‘K
1 b ) 0 = 0 01X
S R PR PR 01 1[X
1 =1 Xio
H 1 =0 Xil
I,=Q, Jp=1
Ky= Ko=Qq

Q




Q Q, Transition Qu; — Qn |J ‘K
1 h 0 =0 01X
S ET—1
H 1 = 0 Xil
= Q Jp=1
K, = Ko=Q,

Q




Q, Q, Transition Qnq — Qn |JiK
1 —h ) 0 = 0 01X
Q Q 0= 1 1{X
0 ik | =y X0
H 1 50 Xil
J,=Q, Jo=1
Ki=1 Ko= Qq

A I FY R EY R 1 S O R

Auto-correcteur

0 1 1 0 0 1

Q




